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Choose the most appropriate option to change the voice 

(active/passive) form of the given sentence. 
1. Ratan is performing an experiment. 

A. An experiment were performed by Ratan. 
B. An experiment was performed by Ratan. 

C. An experiment is performed by Ratan. 
D. An experiment is being performed by Ratan. 

 

निरे्दश: निम्िलिखित जािकारी का अध्ययि करें और दिए गए प्रश्िों के उत्तर िें। 
आठ व्यक्तत अर्ाात, A, B, C, D, E, F, G, और H एक वगााकार मेज पर बैठे हैं। चार व्यक्तत मेज 

के चारों कोिों पर बैठे हैं और मेज के अंिर की ओर उन्मुि हैं। चार व्यक्तत चार भुजाओं के बीच में बैठे 

हैं और मेज के बाहर की ओर उन्मुि हैं। जरूरी िहीं कक सभी जािकारी इसी क्रम में हों। B, A के िायें 
स ेतीसरे स्र्ाि पर बैठा है। B और D के मध्य िो व्यक्तत बैठे हैं। E, D के बायें से िसूरे स्र्ाि पर बैठा 
है। G, मेज के कोिे पर बठैा है। F, G के िायें से तीसरे स्र्ाि पर बैठा है। H, C के बायें स ेिसूरे स्र्ाि 

पर बैठा है जो मेज के कोिे पर िहीं बैठा है।  
2. B के बायें से तीसरे स्थान पर कौन बैठा है? 

A. H 

B. C 
C. D 

D. F 
 

3.C के बायें से गिनने पर A और C के बीच बैठे लोिों की संख्या उतनी ही है जितनी B के दायें 
स ेगिनने पर ____ और B के बीच में बैठे लोिों की संख्या। 
A. F 
B. E 

C. H 
D. G 

 

 

4.ननम्नललखित पांच में से चार एक ननजचचत तरीके से समान हैं और इसललए एक समूह बनात े
हैं। ननम्नललखित में से कौन उस समूह से संबंगित नहीं है? 

A. D 

B. A 
C. E 

D. B 
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5.H के सन्दर्भ में B का स्थान क्या है? 

A. तत्काल बाएं 
B. बाए ंसे दसूरा 
C. दाए ंसे दसूरा 
D. बायें स ेतीसरा 
 

निरे्दश: ननम्नललखित िानकारी का अध्ययन करें और ददए िए प्रचनों के उत्तर दें। 
एक ननजचचत संख्या में व्यजक्त उत्तर ददशा की ओर मुि करके एक सीिी रेिा में बैठे हैं। H और 
D के बीच पांच लोि बैठे हैं। A, D के बाए ंसे तीसरे स्थान पर बैठा है। H और A के बीच बैठने 
वालों की संख्या उतनी ही है जितनी कक H और B के बीच बैठे लोिों की संख्या। B पंजक्त के ककसी 
एक छोर पर बठैा है। B और K के मध्य चार व्यजक्त बठेै हैं। K और G के मध्य छह व्यजक्त बठेै 
हैं, िो पंजक्त के अंनतम छोर पर बैठा है।  
6. K और D के मध्य कौन बैठा है? 

A. A और G दोनों 
B. केवल A 

C. केवल G 

D. H और B दोनों 
 

7.पंक्तत में ककतिे व्यक्तत हैं? 

A. 13 
B. 12 

C. 8 
D. 16 

 

8.K के बाए ंसे पांचवें स्र्ाि पर कौि बैठा है? 

A. B 

B. H 
C. D 

D. A 

 

9.H के बाईं ओर ककतिे व्यक्तत बैठे हैं? 

A. एक 

B. पांच 
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C. तीि 

D. चार 
 

निरे्दश: ननम्नललखित िानकारी का अध्ययन करें और ददए िए प्रचनों के उत्तर दें। 
आठ व्यजक्त अथाभत ्A, B, C, D, E, F, G और H आठ अलि-अलि ददनों में एक अवसर पर 
उपजस्थत होते हैं लेककन आवचयक नहीं इसी क्रम में हों। A और H के बीच केवल एक व्यजक्त इस 
अवसर पर उपजस्थत होता है। H और B के बीच में तीन लोि इस अवसर पर उपजस्थत होते हैं। 
B, H के बाद इस अवसर पर उपजस्थत होता है। B और D के बीच में दो व्यजक्त उपजस्थत होत े
हैं। D इस अवसर पर B के बाद र्ाि लेता है। C और F के बीच में दो व्यजक्त उपजस्थत होते हैं। 
C, E से पहले इस अवसर पर उपजस्थत होता है।  
10.  

C से पहिे ककतिे िोग इस अवसर पर उपक्स्र्त होते हैं? 

A. एक 

B. तीि 

C. कोई िहीं 
D. िो 
 

11.F और B के मध्य इस अवसर पर कौन र्ाि लेता है? 

A. D 

B. E 
C. A 

D. C 
 

 

12.G और E के बीच ककतने लोि इस अवसर पर उपजस्थत होते हैं? 

A. तीन 

B. कोई नहीं 
C. एक 

D. दो 
 

13.F के ठीक पहले इस अवसर पर कौन उपजस्थत होता है? 

A. B 
B. C 
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C. E 

D. A 
 

14.इस अवसर पर सबस ेअंत में कौन शालमल होता है? 

A. G 
B. H 

C. D 
D. A 

 

निरे्दश: नीचे ददए िए प्रचन में तीन कथन और उसके बाद दो ननष्कर्भ ददए िए हैं जिनकी संख्या 
I और II है। आपको ददए िए कथनों को सत्य मानना है, र्ले ही व ेसवभज्ञात तथ्यों स ेलर्न्न 
प्रतीत होते हों। सर्ी ननष्कर्ों को पढें और किर तय करें कक ददए िए ननष्कर्ों में से कौन सा 
ननष्कर्भ सामान्य रूप से ज्ञात तथ्यों की परवाह ककए बबना ददए िए कथनों का ताककभ क रूप स े
अनुसरण करता है।  
15.  

कथि: 

सर्ी डिजिट लेटर हैं 
केवल कुछ लेटसभ विभ हैं 
केवल कुछ वर्डभस नंबर हैं 
निष्कर्ष: 
I. कोई डिजिट विभ नही ंहै 
II. कुछ वर्डभस नंबर नहीं हैं 
A. केवल I अनुसरण करता है 
B. केवल II अनुसरण करता है 
C. या तो I या II अनुसरण करता है 
D. न तो I और न ही II अनुसरण करता है 
 

निरे्दश: ननम्नललखित संख्या श्रंिला में प्रचनवाचक गचन्ह (?) के स्थान पर क्या आना चादहए? 

16. 33, 47, 75, 117, ?, 243 

A. 166 
B. 173 

C. 158 
D. 188 

 

http://www.byjusexamprep.com/


www.byjusexamprep.com 
 
 

 
pg. 6 

17.10, 35, 135, 360, ?, 1385 

A. 540 
B. 760 

C. 880 
D. 1020 

 
18.3, ?, 18, 38, 78, 158 

A. 8 
B. 6 

C. 9 

D. 5 
 

निरे्दश: ननम्नललखित प्रचनों में प्रचनवाचक गचह्न '?' के स्थान पर क्या आना चादहए? 

 

19.  =  

A. 48 
B. 32 

C. 20 
D. 40 

 

20.  
A. 4 

B. 2 

C. 3 
D. 5 

 

21.एक अर्ावतृ्त की पररधर् 36 सेमी है। एक आयत की चौडाई वतृ्त की त्रिज्या के बराबर है। यदि आयत 

का क्षेिफि 147 वगा सेमी है, तो आयत की िंबाई ज्ञात कीक्जए। 
A. 28 सेमी 
B. 21 सेमी 
C. 14 सेमी 
D. 10.5 सेमी 
 

22.िो पाइप X और Y एक टैंक को क्रमशः 4 घंटे और 6 घंटे में भर सकते हैं। पाइप X, Y और Z 

लमिकर उसी टैंक को 3 घंटे में भर सकते हैं। पाइप Z उसी टैंक के आरे् दहस्से को ककतिे समय में 
िािी कर सकता है? 
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A. 8 घंटे 

B. 10 घंटे 
C. 6 घंटे 
D. 9 घंटे 

 

23.टे्रि A की िंबाई टे्रि B की िंबाई की आर्ी है। टे्रि A की गनत का टे्रि B की गनत से अिुपात 2:3 

है। यदि टे्रि A और टे्रि B 100 मीटर िंबाई वािे प्िेटफॉमा को क्रमशः 5 सेकंड और 6 सेकंड में पार 
करती है। टे्रि B की िंबाई ज्ञात कीक्जए। 
A. 800 मीटर 
B. 720 मीटर 
C. 880 मीटर 
D. 600 मीटर 
 

निरे्दश: ननम्नललखित िानकारी का ध्यानपूवभक अध्ययन करें और ददए िए प्रचनों के उत्तर दें। 
नीचे ददया िया रेिीय ग्राि 2020 में चार कंपननयों-A, B, C और D द्वारा िहािों की संख्या और 
िहािों और नावों के उत्पादन के योि को दशाभता है। 
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24. कंपनी B द्वारा उत्पाददत नावों की संख्या उसी कंपनी द्वारा उत्पाददत नावों और िहािों की 
कुल संख्या का ककतना प्रनतशत है? 

A. 50% 

B. 15% 
C. 40% 

D. 25% 
 

25.कंपननयों A, C और D द्वारा उत्पाददत नावों की औसत संख्या ककतनी है? 

A. 75 
B. 57 

C. 64 
D. 81 

 
Direction: Read the sentence to find out whether there is an error in it. The 

error, if any, will be in one part of the sentence. The number corresponding 

to that part will be your answer. If the given sentence is correct as it is, mark 
the answer as ‘No error’. Ignore the errors of punctuation, if any  

26. The woman’s luggage (1)/ will be lost during her flight, (2)/ and no one 
has seen her (3)/ clothing-stuffed bag since then. (4) 

A. 1 
B. 2 

C. 3 
D. 4 

 
Direction: Read the sentence to find out whether there is an error in it. The 

error, if any, will be in one part of the sentence. The number corresponding 
to that part will be your answer. If the given sentence is correct as it is, mark 

the answer as ‘No error’. Ignore the errors of punctuation, if any  
27. It was too dark (1)/ to explore the grounds, (2)/ so the crew were forced 

(3)/ to return the following day. (4) 

A. 1 
B. 2 

C. 3 
D. 4 

 
Direction: Read the sentence to find out whether there is an error in it. The 

error, if any, will be in one part of the sentence. The number corresponding 
to that part will be your answer. If the given sentence is correct as it is, mark 

the answer as ‘No error’. Ignore the errors of punctuation, if any  
28. Recurring sinus (1)/ infection plaguing (2)/ the man (3)/ every winter. (4) 
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A. 1 

B. 2 
C. 3 

D. 4 
 

Direction: Read the sentence to find out whether there is an error in it. The 
error, if any, will be in one part of the sentence. The number corresponding 

to that part will be your answer. If the given sentence is correct as it is, mark 
the answer as ‘No error’. Ignore the errors of punctuation, if any.  

29. While you go to the (1)/ restaurant during happy (2)/ hour, you can enjoy 

a (3)/ strawberry lemonade at half the cost. (4) 
A. 1 

B. 2 
C. 3 

D. 4 
 

Direction: Read the sentence to find out whether there is an error in it. The 
error, if any, will be in one part of the sentence. The number corresponding 

to that part will be your answer. If the given sentence is correct as it is, mark 
the answer as ‘No error’. Ignore the errors of punctuation, if any.  

30. During every (1)/ rainy season, periodic (2)/outbreaks of diseases (3)/ 
kills hundreds of people. (4) 

A. 1 
B. 2 

C. 3 

D. 4 
 

Direction: In the given question, a statement has been divided into five 
segments, each of which is denoted by (A), (B), (C), (D) and (E). Rearrange 

all the segments to form a coherent statement.  
31.  

A) landed him in dire straits 
B) for the future, which 

C) the young man was foolish 
D) and didn’t save any money 

E) when he ran out of cash 
A. CABED 

B. BACED 
C. CDBAE 

D. DEBAC 
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32. 

A) at the party doing a 
B) a silly clown showed up 

C) of the children so they 
D) comedy routine in front 

E) would be fully entertained 
A. CAEBD 

B. AECAB 
C. DEBAC 

D. BADCE 

 
33. 

A) was a way to 
B) The man’s willful silence 

C) intentionally hurt his 
D) wife and avoid talking 

E) out their issues 
A. AEBDC 

B. DBAEC 
C. EBACD 

D. BACDE 
 

Direction: In the following question, a word is given, which has been used in 
the three statements given below it. Identify the statement(s) in which the 

word fits contextually to convey a logical meaning. 

 
34.  

PORE 
I. He began to pore upon religious problems. 

II. I need a funnel to pore petrol into the tank. 
III. Cements are the crystals which grow into existing pore spaces. 

 
A. Only I 

B. Only II 
C. Only III 

D. Both I and III 
 

35.CUE 
I. Our success was the cue for other companies to press ahead with new 

investment. 

II. He chalked his billiard cue again and again. 
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III. Kevin arrived right on cue to care for Harry. 

A. Only I 
B. Only II 

C. Only III 
D. All I, II and III 

 
36.Turn 

I. He wanted them to discover the turns, valleys, and fells of his beloved Lake 
District. 

II. The earth turns on its axis once every 24 hours. 

III. I waited so long for my turn to see the careers adviser that I missed my 
bus. 

A. Only I 
B. Only II 

C. Only III 
D. Both II and III 

 
Direction: In the following question, a sentence with four words printed in 

bold is given. These words are numbered as (1), (2), (3) and (4). One of these 
four words may either be misspelt or inappropriate in the context of the 

sentence. Find out the word(s) that is wrongly spelt or inappropriate and mark 
the relevant option as your answer. If all the words printed in bold are correct, 

mark option (E), i.e. ‘All are correct’, as the answer. 
 

37. Herbal remedies (1) often care (2) illnesses as well, if not better (3) 

than pharmaceutical (4) options. 
A. 1 

B. 2 
C. 3 

D. 4 
 

38.The patient (1) began to hemorrhage (2) when the surgeon nicked (3) 
a vain (4) during surgery. 

A. 1 
B. 2 

C. 3 
D. 4 

 
39.After hearing (1) her sister’s frantic (2) voice on the phone, Kim sansed 

(3) that something was terribly (4) wrong. 

A. 1 
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B. 2 

C. 3 
D. 4 

 
40.Even though attendees (1) were invited (2) to the candle party, they 

were under no oblligation (3) to purchase (4) anything. 
A. 1 

B. 2 
C. 3 

D. 4 
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###ANSWERS### 

 
1. Ans. D.  

The given sentence is in active voice. Its tense is present continuous. The 
structures for active/passive voices are:  

Active: Subject + is/are/am + verb (ing) + object… 
Passive: Object + is/are/am + being + verb (IIIrd from) + by + subject... 

So, with the help of the above structures, we can convert the given sentence 
into passive voice: 

An experiment is being performed by Ratan. 

Hence, option D is the correct answer. 
2. Ans. C.  

 
3. Ans. D.  
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4. Ans. D.  

 
5. Ans. B.  
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6. Ans. B.  

 
7. Ans. A.  

 
8. Ans. A.  

 
9. Ans. C.  

 
10. Ans. B.  
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11. Ans. B.  

 
12. Ans. A.  
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13. Ans. C.  

 
14. Ans. C.  
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15. Ans. B.  

 
16. Ans. B.  

The pattern of the series is: 
33 + 14 = 47 

47 + 28 = 75 

75 + 42 = 117 
117 + 56 = 173 

173 + 70 = 243 
Hence, the missing number is 173. 

17. Ans. B.  
The pattern of the series is: 

10 + 52 = 35 
35 + 102 = 135 
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135 + 152 = 360 

360 + 202 = 760 
760 + 252 = 1385 

Hence, the missing number is 760. 
18. Ans. A.  

The pattern of the series is: 
3 × 2 + 2 = 8 

8 × 2 + 2 = 18 
18 × 2 + 2 = 38 

38 × 2 + 2 = 78 

78 × 2 + 2 = 158 
Hence, the missing number is 8. 

19. Ans. D.  

 =  

⇒  =  

⇒  =  

⇒ ? =  = 40 

20. Ans. A.  

 
⇒ 16 + 4 = ? × 5 

⇒ ? = 4 

21. Ans. B.  
πr + 2r = 36 

⇒ r(π + 2) = 36 

⇒ r  = 36 

⇒  = 36 

⇒ r = 7 

Breadth of rectangle = 7 cm 

Length of rectangle =  = 21 cm 
22. Ans. C.  

Let the capacity of tank be 12 units. 

Efficiency of pipe X =  = 3 units/hour 
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Efficiency of pipe Y =  = 2 units/hour 

Efficiency of pipes (X + Y + Z) =  = 4 units/hour 

Efficiency of Z = 4 – (3 + 2) = –1 unit/hour 
Half of the capacity of tank = 6 units 

Required time =  = 6 hours 

23. Ans. A.  

Let the length of train B be 2L meters. 
24. Ans. C.  

Sum of ships and boats produced by company B = 250 
Number of ships produced by company B = 150 

Number of boats produced by B = 250 – 150 = 100 

Required percentage =  = 40% 
25. Ans. A.  

Total number of boats produced by A, C and D 

= (225 – 175) + (200 – 75) + (175 – 125) 
= 50 + 125 + 50 = 225 

Required average =  = 75 

26. Ans. B.  
The used tense is wrong here. Instead of ‘will be lost’ the sentence demands 

a simple past tense. We need to replace ‘will be lost’ with ‘was lost’ as the 
instance quoted is of the past. 

27. Ans. C.  

Note that crew is a collective noun which is singular in form, demanding a 
singular verb. Thus, we need to replace ‘were’ with ‘was’. 

28. Ans. B.  
The verb form ‘plaguing’ is incorrect. As the sentence states a recurring event, 

the sentence demands a verb in simple present tense. Since the subject is 
‘Recurring sinus infection’ (singular) the verb would also be singular. Thus, we 

need to replace ‘plaguing’ with ‘plagues’. 
29. Ans. A.  

The preposition used in 1st part of the sentence is incorrect. We need to replace 
‘while’ with ‘if’ to state the condition here, on the basis of which the other gets 

fulfilled. 
30. Ans. D.  

The verb form is incorrect as it does not agree with the subject that is plural. 
Thus, we need to replace kills with kill to rectify the sentence. 

31. Ans. C.  
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• C is the only phrase that could possibly mark the beginning of a sentence, 

since the other options begin with verb 'landed' (it should be used after a 
subject), preposition 'for', conjunction 'and', & 'when' (that shows a time or 

condition) which cannot be used to begin a statement as the information 
provided by the parts are incomplete. This makes D, the first phrase in the 

sequence, thus eliminating options A, D, and B. 
• 'C' and 'D' make a pair as the young man mentioned in part C was foolish 

and didn't care about the money he had. 
• Thus, the sequence of the sentence is CDBAE. 

So, the sentence would be :- The young man was foolish and didn’t save 

any money for the future, which landed him in dire straits when he 
ran out of cash. 

Hence, option C is the correct answer. 
32. Ans. D.  

• B can be the phrase that could possibly mark the beginning of a sentence, 
since the other options begin with either preposition 'at' or 'of' or modal verb 

'would'. 
• So, this eliminates options A, C, and E. 

• Considering option D, we can say, it can be paired up with C as they both 
complete the phrase 'in front of' which means in a position just ahead or at 

the front part of someone or something else. 
• Thus, the sequence of the sentence is BADCE 

So, the sentence would be :- A silly clown showed up at the party doing 
a comedy routine in front of the children so they would be fully 

entertained. 

Hence, option E is the correct answer. 
33. Ans. D.  

• B can be the part that could possibly mark the beginning of a sentence, since 
the other options begin with auxiliary verb 'was' and 'out'. 

• So, this eliminates options A, and E. 
• In part B, we have been given the subject of the sentence i.e., 'the man's 

willful silence' and we need verb after it, which is mentioned in part A. 
• Part A ends with preposition 'to', so, the part that has a verb should come 

after it. 
• Thus, the sequence of the sentence is BACDE. 

So, the sentence would be :- The man’s willful silence was a way to 
intentionally hurt his wife and avoid talking out their issues. 

Hence, option D is the correct answer. 
34. Ans. D.  

The word has been used correctly in statements I and III. Note that Pore 

means 
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1 : to gaze intently 

2 : to read or study attentively —usually used with over 
3 : to reflect or meditate steadily 

4 : a minute opening especially in an animal or plant 
In statement II, the correct word would be ‘pour’. 

35. Ans. D.  
Note the meanings of the word cue in the given sentences: 

I: Cue means a signal for action. 
II: a long straight tapering wooden rod for striking the ball in snooker, 

billiards, etc 

III:at the correct moment. 
36. Ans. D.  

The word has been used correctly in statements II and III. 
In sentence I : Tarn should be used in place of turn. Tarn is a small mountain 

lake in a hollow area surrounded by steep slopes formed by a glacier. 
In sentence II : Turn is used as a verb means to (cause to) move in a circle 

around a fixed point or line. 
In sentence III : Turn is used as a noun which means an opportunity or a duty 

to do something at a particular time or in a particular order, before or after 
other people. 

Hence, option E is the correct answer. 
37. Ans. B.  

The sentence contains a contextual error. 
In the given sentence, we are talking about herbal remedies that generally 

save patients from a disease or illness. 

‘Care’ is the process of protecting someone or something and providing what 
that person or thing needs. Here, we are not protecting someone or 

something. 
‘Cure’ means to make someone with an illness healthy again. 

We save people by giving a treatment that causes a disease to go away. 
Thus, ‘cure’ should be used in place of ‘care’. 

Hence, option B is the correct answer. 
38. Ans. D.  

The sentence contains a contextual error. 
Vain is an adjective which means unsuccessful; of no value OR too interested 

in your own appearance or achievements. It is contextually incorrect. 
Moreover, we require a noun here. 

Vein (noun) is a tube that carries blood to the heart from the other parts of 
the body. 

'Nicked' (past form of nick), here, is a verb which means to make a small cut 

in a surface or an edge. 
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The surgeon will nick a vein during surgery. 

Thus, ‘vein’ should be used in place of ‘vain’. 
Hence, option D is the correct answer. 

39. Ans. C.  
The sentence contains a contextual error. 

'Sensed' is the past simple and past participle of sense. It means to feel or 
experience something without being able to explain exactly how. 

However, ‘sansed’ is not a correct word. 
Here, in the given sentence, the speaker gets extremely worried after hearing 

her sister's voice as he/she experienced that something was wrong with her 

sister. 
Thus, ‘sensed’ should be used in place of ‘sansed’. 

Hence, option C is the correct answer. 
40. Ans. C.  

‘Oblligation’ is an incorrectly spelt word.The correct spelling is ‘obligation’. 
Obligation means the state of having to do something because it is a law or 

duty, or because you have promised. 
Hence, option C is the correct answer. 
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